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			9999! Wow such a big number. 9999 can be made by using Addition Alex, Subtraction Sam, Multiplication Molly, and Division David. All of them are as smart as Einstein and as colorful as a rainbow.


Addition Alex looks like a red 3D plus. Subtraction Sam looks like a blue 3D minus. Multiplication Molly looks like a orange 3D x. Division David looks like a purple 3D division symbol. 
They all help you in math. 

The beginning of math can be hard for everyone. Maybe it was hard for you but you like it.
If you want to use Multiplication Molly put two numbers together and multiply them together. 
To use Addition Alex, Subtraction Sam, or Division David put the symbol in the designated place.

For example: 
2x + 6 = 12


X is equivalent to 3 because two times what plus 6 equals twelve.
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Subtraction Sam is having a hard time with math so he asks Addition Alex to help him with his job in the problem, Addition Alex says he should focus on his job in the problem.
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This a complex four step problem if you can't solve it that is ok.



5x + 18 - 16 divided by 8 = 4








X is equivalent to 6 because this is the problem 5 x 6 + 18 - 16 divided by 8 equals 4

Did you know that you can only use a letter once in a problem.


Now you know the basics of algebra! 

Congrats! Hope you like it!
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Addition Alex was born on the 14th of January in 2012



He loves Sushi and Pizza. He also likes listening to K-pop music.

His favorite subject is Stem.
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